EXY

® 3

ANE 351 x2 x 32 x y o]t}

3 5

ojeff, y — x 9] g7

@ 7

B 9



2.

ax 3t 952 |57} 157)¢]

0] & Fafelel.

B
=¥



@ 474 ® 674 @ 87j ® 1070

@D 274



4. HF 5 29%x3x5, 2x52x 7 9 HAEZHSLE FL5H 2 x 3 x 52 x 72
olth. a+ b+ c 9] g Fstofet

& e
=%






6. 29N -3 %69 T



ol
S
olJ

Njo

ol

o] b o) Aeigtr A},

T

G
S

a
® a<b<0°]Hq o] AHgto] b o] AUigtEct It}

B

@ a<bo]



4= a,b ol Histe]
ash = (a, b AU T %), aVb = (a, bT AAFC] 2 )
2 o) o o,
{(=6)V(-9)} V {3a(-5)} & F-5loft.

SER
-



%Wﬂ%
she A A

2
® -3

o



1
8

10.

Fed=t.

5|

xxy o g& T

YR
-



11. nol &5d o,

(1) x (1) x (=1)" 3 x (=1)"* O] & FotoEt (B2 5)

e =
=%



12.

SR

Ao A 3 WA = Attsof she 227

—44928 = {(+3)—(-2)%} x 4
1 ! !
o O © @
D @ ® © 3 © @ @ 6 @




13.

ohE S5t

4
D3

@ 0.7958243 - --

(]



27 _
14. & 333 S x 2o, xx (103 - 1) 5ozt

5 ER
=%



15. 728 =29x 3" o, a- b9 GH-& F5tof2h

& e
c



goto] 27 x5° 2 E Ae] 51

Ae) %

Fafolz



17. A= (=3xy)? =+ 2x3%3 | B = (2xy)3 x ! d ofj, AB & AAtolH

3x2y2
k5] spofet.

YR
=¥



18. o= x o tiet 247t - shue?

D 1-3x+2x%+4x2 @ -x2+5x+1
® x2-8y+1 @ 4x* +3x-1

1
® — -1



19.  (=3x+2y)(3x+ 2y) — (5x + 2y)(5x — 2y) & 73] 514H?

O -15x% + 8y? @ -15x% + 16y? @ —34x% + 4y?

@ —34x% + 8y? ® —34x% + 16y?



20.

a+b+c=09% o, oF 29 g

9

b+c b
+c+a+ +a
a b c

@ 1




